
Ex. 1.2 
Do in r/c 
Q.1Match the following underlined digits to their place value :- 
(i)325872532           (a) 8000000 
(ii) 28325724           (b)80000000 
(iii)38782543           (c) 800000 
(iv)83468257           (d) 800 
(v)54312890            (e) 80000 
Q.2 Full in the blanks :-  
(i)1millions = ------------thousand  
(ii) 1million=---------------lakhs  
(iii) 1crore = --------------millions 
(iv) 1crore =-----------thousands 
(v) 1billion = -----------millions  
(vi)1crore =-----------lakhs 
Ans. i.1000         ii. 10 
iii. 10                   iv. 10000 
v. 1000               vi. 100 
**Do in F/c 
Q.3 Write the place value of 5 in each of the following :- 
i.125698710       Ans. 5000000 
ii. 102530901     Ans. 500000 
iii. 59232104       Ans. 50000000 
iv. 123578634      Ans. 500000 
Q.4 write in expanded form :- 
i.187257328   
Ans. 100000000+80000000+7000000+200000+50000+7000+300+20+8 
ii. 273254278 
Ans. 200000000+70000000+3000000+200000+50000+4000+200+70+8 
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